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Sl. No.1
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Given below are four sentences in jumbled order. Select the option that gives their correct

order.

(A) Bv inserting small sheets or strips of paper over passages that had to be re-written.
he utterly changed the outcome of the stories. bringing them unfailingly to a happy
ending.

(B) For this man. every story. novel or epic poem had to end happily.

(C) So. over the yvears, he devoted himself to re-writing the endings of some hundred or so

books 1n every concelvable language.

(D) He obviously couldnt bear tragic endings. nor for a storv to end on a sad or

melancholic note.

Choose the correct answer from the options given below :

(1) (B). (D). (C). (A)
(2) (A). (D). (C). (B)
(3) (B). (A). (C). (D)
(4) (A). (B). (C). (D)

(1) 1
(2) 2
(3) 3
4) 4




T=-Og ¥ Feleta =1 o=y e 27

(&) 3 =
B) = EE
(C) T HE
(D) =1 H=ig
()  Tamt =@fg

Hi= fou v faeal H § HeE 39FT ST R =4 i
(1) #Fad (A). (C). (D)
2) Fad (A). (O). (B)
(3) ¥4 (A). (B). (D)
4  Fa= (B). (C). D)
(1) 1
(2) 2

3) 3
(4) 4

1[Option ID=17901]
2[Option ID=17902]
3[Option ID=17903]
4[Option ID=17904]

Sl. No.2
QBID:1007302

Choose the correctly spelt word.

(1) Efarvescent (27 Efervescent

(3 Effervesent (4) Effervescent

(1) 1
(2) 2
(3) 3
4) 4

FTER AR FHAES & IERY F a1 F A1 75 Hal 2 7
(1)  H&Fd WGl § 3T TR F S=W0 § % THF 26l 2
@ == 3 sies F oo wRun SgER fomn s 2

(3) @ = W W A ATER FFAES & g9H Sl S 8

(4)  I59 3UEl F= F [GRR % B A ST SR AR Fil s A e E




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=17905]
2[Option ID=17906]

3[Option ID=17907]
4[Option ID=17908]

Sl. No.3
QBID:1007303

Choose the correct sentence.

(1) He was entitled to a full refund
(3 He was entitled on a full refund
1) 1
(2) 2
(3) 3
(4) 4
= 5w fog e E
EXE N

EE

(2
(4)

T % 3 B A aEq G B A" B A

He was entitled for a full refund

He was entitled with a full refund

‘O3 % o9 =9 ° 9@ #0919 BT & 39 99 #ad &

IUUE FYA F AT °, A fou 0 fTwedt § 1 gen IugE S H 99 S

(1) = [ &R I gF g &

2 = I 3R I 5A o 2

(3)  ®uA L4l 7, o %o I 7o 2
(4)  wyF [ 7Ted 2, A e [ Ee 2

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17909]
2[Option ID=17910]

3[Option ID=17911]
4[Option ID=17912]

Sl. No.4




QBID:1007304

Match List T with List IT :

ListI Last II
(A) Apggressor (. One who doesnt believe 1n the
existence of God
(B) Anarchist (II) One who does something for pleasure
(C) Amateur (III) One who wishes to destroy all
governments
(D)  Atheist (IV) One who attacks first

Choose the correct answer from the options given below :

(1) (A)-(D). (By~(IT). (C)-(ILI). (D)-(IV)
(2) (A)-(IV). (B)-(III). (C)-(II). (D)-(I)
(3) (A)-(II). (B)-(I). (C)-(III). (D)-(IV)
(4) (A)-(IV). (B)-(I). (C)-(I1II). (D)-(IT)

(1) 1

(2) 2

(3) 3

(4) 4

fatia w19 % "oy # A @ F wE R Y

(&) faeim wez sH % fow g et @ wEe fE S 2
B) Ta=im g sAE * fow T swet = w2
(C) ‘g Sudt =R faeim g = W 2

(D) ‘=Y e S e weg s S A

(E) ‘Ofd’ 3uet & = o fasm e a9 o 2

e fou v famret A O ged 39gT I w0 WA i

() & (A). (B) ¥ (O)
(2)  FE (A). (B) 31 (E)
(3) A (B). (C) 3 (D)
@)  Faa (B). (C) 3 (E)
(1) 1
(2) 2

3) 3
(4) 4




1[Option ID=17913]
2[Option ID=17914]
3[Option ID=17915]
4[Option ID=17916]

Sl. No.5
QBID:1007305

Identify the correct passive voice of the following sentence.

The waiter filled the glasses with water.
(1) The glasses filled with water by the waiter

(2) The waiter was filled the glasses with water
3 The glasses were filled with water by the waiter
(4) The waiter were filled in the glasses by water
(1) 1
2) 2
(3) 3
(4) 4
Tf1-1 % A1 1 gei-11 faes it
- LI
(A) T O sg
(B) =hHel (ID dwr
(C) =ig (IIT) =3
(D) g (IV) i

= feu U fawedi 5 O OE 39 F 999 i

(1) (A)-(IV). (B)-(ID). (C)-(I1D). (D)-(I)
(2) (A)-(D). (B)-(D). (O)-(I1D). (D)-(IV)
(3) (A)-(IID), (B)-IV). (C)-(D). (D)-(II)
(4) (A)-(IV). (B)-(II). (C)-(I). (D)-(I1I)

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=17917]
2[Option ID=17918]

3[Option ID=17919]
4[Option ID=17920]

Sl. No.6
QBID:1007306




From among the four options given. choose the pair of words that are antonyms of each other

(1)
(3)
(1) 1
(2) 2
(3) 3
(4) 4

foresight: blindness (2) wiable: feasible

judicious: silly (4) welfare: comfort

TefeafEa 7 TG Jd-1 9T e & -

(1)
(3)

(1) 1
(2) 2
(3) 3
4) 4

EEECrot (2) FsEd

Faodd (4) a9

1[Option ID=17921]
2[Option ID=17922]
3[Option ID=17923]
4[Option ID=17924]

Sl. No.7

QBID:1007307

Identify the correct indirect narration for the following sentences

He said to her. “What a cold day!”

(1)
(2)
(3)
(4)

1) 1
(2) 2
3) 3
(4) 4

He told her that it was a cold day
He exclaimed that 1t was a very cold day

He exclaimed sorrowfully that 1s was a cold day

He exclaimed that 1t was a cold day




Frefefian & g T 2 -

(&) v T SEE WA o e
(B)  T=W e 93 UEE T8 A

(C)  F9 W W A fil FH |

(D) A ® T gH EREATYS il 2l
(E) i = g3 HieH 78 2

= fou T ot § O = I o = Fit
(1)  Fad (A). (C) 317 (B)
(2)  Fad (A), (B) R (D)
(3)  Fad (B), (C) =R (D)
(4)  =ae (C). (D) 311 (E)
(1) 1
(2) 2

(3) 3
(4) 4

1[Option ID=17925]
2[Option ID=17926]
3[Option ID=17927]
4[Option ID=17928]

Sl. No.8
QBID:1007308

Which of the following 1s a one-word substitute for ‘one who cuts precious stones™?
(1) Lapidist {2y Milliner
(3) Glazier (4) Farrier
(1)
(2)

(3)
(4)

A W N =




-1 % =1y =1 geAi-11 e it

il | il
(A) =9 @H T (I) et
(B) A @ F dre (I1) wus
(C) w5 & |HM SAT@l aredl (IIT) fre=afi
(D) Hoel = GEE AT are (IV) Toam=rd

= fou U feeal 0 O wE 39 1 =99 i

(1) (A)-(IV). (B)-(IID), (C)-(II). (D)-(I)
(2) (A)-(I1I). (B)-(IV). (C)-(I). (D)-(IT)
(3) (A)-(IT). (B)-(III). (C)-(IV). (D)-(I)
@  (A)-D. (B)-ID, (C)-). (D)-IV)

(1)
(2)
(3)
(4)

A W N =

1[Option ID=17929]
2[Option ID=17930]
3[Option ID=17931]
4[Option ID=17932]

Sl. No.9
QBID:1007309

Choose a word which means "essential’.

(1) dispensable (2) crucial

(3) 1nitiative (4) umimportant

(1)
(2)
(3)
(4)

A W N =




-1 =1 =1 gAi-11 o it

-1 -1
(&) 3 F T = (D) e
(B) T T g¥HA (I) Tl = 390 W =e
(C) =g T (ITT) SEg S &
(D) el T AT V) 7@ =afw
i Tou U faheat § 9 =99 3 1 =999 Fie

(1) (A)-IV), (B)-(IID), (O)-(ID), (D)-(D)
(2) (A)-(IID), (B)-(IV). (C)-(D. (D)-(II)
(3) (A)-(I). (B)-(II). (C)-(III). (D)-(IV)
@) (A)ID). (B)-(III). (C)-IV). (D)-(D)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=17933]
2[Option ID=17934]

3[Option ID=17935]
4[Option ID=17936]

Sl. No.10
QBID:1007310

Choose a word which means “to avoid confrontation and anger’.

(1) Arduous (2) Evolution
(3) Emollient (4) Swollen
1) 1

(2) 2

(3) 3

(4) 4




e} =1 HEETA -
(A) HIIde

(B) Gl

(€ 4

(D) wEEE

+i= Tou T fahedl § @ B9 S9ET ST 1 =4 I

(1) F=4 @A)
(2) Fa= (B)
(3) ¥ (B) 3R (C) i
4  Fad (D)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17937]
2[Option ID=17938]

3[Option ID=17939]
4[Option ID=17940]

Sl. No.11
QBID:1007311

Who has been re-elected for the 4% time as the Prime Minister of Hungary?
(1) Viktor Orban {2y  EKiril Petkov

(3) Olaf Scholz (4) Gabriel Boric
(1) 1
(2) 2

3) 3
(4) 4

I T T = aw T T g e

(1) ]%TE"T _jﬁiﬂ (2) i'.fFur.Il:Fl “]F‘_t_q?ﬂ? =
(3)  #EE wed A ao
1) 1
(2) 2
(3) 3

(4) 4




1[Option ID=17941]
2[Option ID=17942]
3[Option ID=17943]
4[Option ID=17944]

Sl. No.12
QBID:1007312

Indian team comprising Chirag Shetty, Satwiksaira] Rankireddy. Lakshva Sen and
K. Srikanth created history by winning the Thomas Cup title for the first time after defeating
14 times Thomas Cup champion ——— by 3 - 0.

(1) Malaysia (2) Chinese Taipel
(3) Thailand (4) Indonesia

1) 1
(2) 2
(3) 3
(4) 4

e 91, wnfeers s RS, S5 B9 ¥R 6. A ® T 9WAE 2 A 14— S 9imE e A —
, 79 1 3-0 ° T T TR AW U7 F9 Haw sioes =)

(1) oo (2) =T aEE
(3) MEeAUs (4) =SHEPEET
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=17945]
2[Option ID=17946]
3[Option ID=17947]
4[Option ID=17948]

Sl. No.13
QBID:1007313

Who has become the first Indian welghthifter to have won a gold at IWF Junior
Championships that was organized in Heraklion?

(1) Achinta Sheuli (2) Harshada Sharad Garud
(3) WV Rithika (4) Gyvaneshwar1 Yadav

(1) 1

(2) 2

(3) 3

(4) 4




FfFaT § STANT 55 9 $eeg UF JHEE A0 | W 9gE A aen 999 9EdaE deierrel wiH

g_n‘;'
(1) =A== e (2) =YE T TES
(3) i fifge (4) FHTSH AR
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=17949]
2[Option ID=17950]
3[Option ID=17951]
4[Option ID=17952]

Sl. No.14
QBID:1007314

According to the World Bank. India has surpassed
recelving country in 2021?

(1) Mexico (2) China
(3) Brazil (4y Japan
(1) 1

(2) 2

(3) 3
(4) 4

Tava &% % AT9E 99 2021 H 9N 39 99-T90 WHHGT 5o 5 F

as the top remittance

ST B T 27

(1)  =fFa=s (2) =M
(3)  FEE (4) =
(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=17953]
2[Option ID=17954]
3[Option ID=17955]
4[Option ID=17956]

Sl. No.15
QBID:1007315




According to the Union Budget from which government sector has the maximum number of
recelpts?
(1) Income Tax (2) Non-Debt Capital Receipts
(3) Borrowing and other habilities (4) Customs
1) 1
(2) 2

3) 3
(4) 4

F51 2 H ATAR TR I G a0 W i w5 A ¢

(1)  =TFH (2)  TE-For I WA
(3) A Ud 3= oHam (4) 1 e

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=17957]
2[Option ID=17958]
3[Option ID=17959]
4[Option ID=17960]

Sl. No.16
QBID:1007316

Match List I with Tast IT :

List I List IT
(A} Author )  Artist
(By Actor (ITy Performer
(C) Painter (IIT) Scholar
(D) Researcher (IV) Narrator

Choose the correct answer from the options given below :

(1) (A)-(IV). (B)-(II). (C)-(I). (D)-(III)
(2) (A)(IIT). (B)-(II). (C)-(I). (D)-(IV)
(3) (A)-(IV). (B)-(I). (C)-(II). (D)-(IIT)
(4) (A)-(IIT). (B)-(I). (C)(II). (D)-(IV)

(1)
(2)
(3)
(4)

P W N R




T=1-1 % =y g=t-10 1 faerm Fifsm

(A)
(B)
(C)
(D)

49 fou o faweni § 9 v 3w =9 Fife

Y
(2)
(3)
(4)

(1) 1
(2) 2
3) 3
(4) 4

-1

(A)-(IV). (B)-(II). (C)-(I), (D)-(IIT)
(A)-(III). (B)-(II). (C)-(I). (D)-(IV)
(A)-(IV). (B)-(I). (C)-(IT), (D)-(IIT)
(A)-(III). (B)-(I). (C)-(IT). (D)-(IV)

1[Option ID=17961]
2[Option ID=17962]
3[Option ID=17963]
4[Option ID=17964]

TEl-11
() FeATHR
(II) wR=ATaT (qsTe )
(IIT) TagH
(IV) =il

Sl. No.17

QBID:1007317




Six statements are given below. put all in a specific order. Choose the rght argument
containing logically related statements that i1s. where the third statement is a conclusion
drawn from the preceeding two statements :

(A) All dolls are tovs.

(B) Some tovs are pencils

(C) Some pencils are dolls

(D) Some toyvs are not dolls

(E) All tovs are pencils

(F) No tovs are pencils

Choose the correct answer from the options given below :

(1) (B). (C). (D)
(2) (E). (A). (O)
(3) (A). (B). (C)
(4) (E). (D). (C)
(1) 1
(2) 2

3) 3
(4) 4




= B wua for o B 3% v fAfvea #9 9 omsv) 9E o w6 9Ee Fitae g adel e 9 ety
(A) = ST e #

(B) F9 e = 2

(C) o ufEe TEAm 7

(E) =R Tt dfae 3

(F) =iz it figeimn dee T4 21

4= TGu v [mEea 5§ HEl I #1999 S
(1)  (B). (). (D)
(2) (E). (A). (C)
(3) {A). (B). (C)
(4) (E). (D). (C)

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=17965]
2[Option ID=17966]
3[Option ID=17967]
4[Option ID=17968]

Sl. No.18
QBID:1007318

If FACULTY 12 YTLUCAF and PAPERS are SREPAP: then STATEMENTS are

(1) STMETANETS (2y SNTEMETATS
(3) STNEMETATS (4y SMETANETST
(1) 1
(2) 2
3) 3

(4) 4




gfe FACULTY # YTLUCAF fomar =1 2 3n PAPERS # SREPAP o1 =1 & @i
STATEMENTS =1 947 fomar =mom 7

(1) STMETANETS (2) SNTEMETATS
(3) STNEMETATS (4) SMETANETST

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17969]
2[Option ID=17970]

3[Option ID=17971]
4[Option ID=17972]

Sl. No.19
QBID:1007319

Six statements are given below: put all in a specific order. Choose the right argument
containing logically related statements that 1s. where the third statement 1s conclusion drawn

from the preceding two statements.

(A) Frogs are mammals.

(B) Some mammals are butterflies
(C) Frogs are butterflies

(D) Some frogs are butterflies

(E) Some frogs are not butterflies

(F) No frog 1s butterfly

Choose the correct answer from the options given below :

(1) (B). (F). (D)
(2) (A). (C). (E)
(3) (A). (D). (B)
(4) (B). (4). (C)
(1) 1
(2) 2

3) 3
(4) 4




A2 3 Fo e e B A R o Giffea w4 ) bl on 8 seiun we O wh o B o
Fifaw, w320 = dE0 FY Hq9H ghadi 51 YA F FeRd ° e w2

(A)  Te® =AaE EE 7

(B)  F9 wH9El faateEl 2

(C)  We faafa 7

(D) T3 Uk foafeEl 7 2

(F) == i g faqa=i 74 2|

4 feu v faFeat § ° 9F1 3 #1999 Fie
(1) (B). (F). (D)
(2) (A). (C). (E)
(3) (A). (D). (B)
(4) (B). (A). (C)

(1) 1
2) 2
3) 3
(4) 4
1[Option ID=17973]
2[Option ID=17974]

3[Option ID=17975]
4[Option ID=17976]

Sl. No.20
QBID:1007320




Given below are two statements :

Statement I :  Honesty 1s the best way to healthy life: exercise 1s secondary means.

Statement II :  Exercise 1s the best way to healthy life; Honesty 1n exercise 1s must.

In the hight of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement Il are true
(2) Both Statement I and Statement IT are false
(3) Statement I 1s true but Statement II is false

(4) Statement I 1s false but Statement II 1s true

(1) 1
(2) 2
3) 3
(4) 4

= 71 e foo o E

FoA 1 =Y e # 0 SaE T SHEER 2| SEEE T 3 2

T I1: =5 A 1 " T m‘j‘q%;—w ¥ THFEH SEvEE B
IHIF FYA 5 AEE 5, A= 58 T el § W 5 I I % =5 I

(1) w3 Il o9 2
(2) woa 3R IS #1594 &
(3) wua 190 2, @ %94 I 790 7

(4) =99 ] 575 &, wifed $o9 [ o039 7

(1) 1
2) 2
3) 3




(4) 4

1[Option ID=17977]
2[Option ID=17978]
3[Option ID=17979]
4[Option ID=17980]

Sl. No.21
QBID:1007321

Consider the system of linear equation x + 2y =10 ; 3x + ky = 15 then which of the following
1s/are correct
(A) For k = 6 the system will have unique solution.

(B) For k = 6 the system will have infinitely many solutions.

(C) There 1s no value of k so that the system has no solution.
(D) The system 1s not consistent at all.
(E) The svstem 1s always consistent.

Choose the correct answer from the options given below :

(1) (A). (O). (E) only
(2) (A). (B). (E) only
(3) (B). (C). (D) only
(4) (C). (D). (E) only

(1) 1
(2) 2
(3) 3
4) 4




OH S x4+ 2y =10, 3x + ky =15 UF Thg® GHE F o9 7| A9 G ™ IOH ° ®H F 95
(A) k=6 % [oU 99 F TH Fa4 UF 74 7

(B) k=67F a0 F TH I = 2

(C) ki =i i a9 van 981 2 5 79 % 9\ #5999 2

(D) 7= F o gE T 2

(E) o= =90 a7 7|

ﬁ?hﬂwmﬂﬂﬂﬁWﬁWﬁﬁW
(1)  Fa= (A). (0). (E)
(2)  ad (A). (B). (B)
(3)  FA=(B). (C). (D)
4y  FaA(C). (D). (E)

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=17981]
2[Option ID=17982]

3[Option ID=17983]
4[Option ID=17984]

Sl. No.22
QBID:1007322
3 "Ee 3
The value of [ ﬁmfli_?g} [ 3 39} 1s
(1) 21 (2y 243
(3) L 4y 729
1) 1
2) 2
(3) 3

(4) 4




&

{5 | [R5 |
][]

(1) 81 (2) 243
(3) 27 (4) 729

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17985]
2[Option ID=17986]

3[Option ID=17987]
4[Option ID=17988]

Sl. No.23
QBID:1007323

A number x 1s chosen at random from the numbers —3. —-2. -1, 0. 1. 2. What 1s the probability
that x* < 47

(1) ¥ £2) ¢
(3) % 4 1
(1) 1
(2) 2
3) 3
(4) 4

TEmE -3, 2. -1, 0. 1. 29 ¥ uF W x ARIw IH Il B2l a7 < 4 T arEfwa w0 2 e

(1) ¥ (2) 3
(3) % 4 1
1) 1
(2) 2
3) 3
4) 4

1[Option ID=17989]
2[Option ID=17990]
3[Option ID=17991]
4[Option ID=17992]

Sl. No.24
QBID:1007324




For which value of b the quadratic equation x> + bx + 4 = 0 has real =olution

(1) b=4b=-4
(2) b4 b=-4
(3) b>4b<-4

(4) there 1s no values of b so that it has real solution

1) 1
(2) 2
(3) 3
(4) 4

b = T4 O =+ Tou fgaria adir x° + bx + 4 = 0 F1 T arai=® 7 2|

(1 b=4b=-4 (2) bz4.b=-4

(3) bzd4b<-4 (4) b T EE AE A A

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17993]
2[Option ID=17994]

3[Option ID=17995]
4[Option ID=17996]

Sl. No.25
QBID:1007325

If « and F are the zeors of the quadratic polynomial f(x}=,!ax2 +4x + 8 such that

a® + B =16 then the values of k are

(1 Y D ()
} 72 % 2 2
, 1-45 1++5 I T O
(3) , (4) _ .
2 2 2 2
(1) 1
(2) 2
(3) 3

(4) 4




G o AR B g 95T flx) = kx® +dx + 8 FIAZ ANF o + B =16 99 k T TH =F1

B priith [ O

(1) 8¢ .5/ (2)
72 2 2
: 16 1146 I T .
(3) ; (4) _ :
2 2 2 2

(1) 1

(2) 2

(3) 3

4) 4
1[Option ID=17997]
2[Option ID=17998]
3[Option ID=17999]
4[Option ID=18000]
Sl. No.26
QBID:1010001

Summative assessment occurs -

(1) During the instruction (2y Before the instruction

(3) After the instruction {(4) Before as well as after the instruction
(1) 1

(2) 2

3) 3

4) 4

TPTeHF 3% Bidl 2 -

(1)  #H57F % oA (2) #TEF A

(3) LT % UTEN (4) ST H TR S T9EE
(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=18001]
2[Option ID=18002]
3[Option ID=18003]
4[Option ID=18004]

Sl. No.27
QBID:1010002

First Chairperson of National Commission for Women in India was —

(1) Ms. Jayanti Patnaik (2) Ms. Rekha Sharma
(3) Ms. Mamata Sharma (4) Ms. Smriti Irani
(1) 1

(2) 2




3) 3
(4) 4

Wi # ferdi & for mft s it wuw sreren & -

(1) et STt T (2) fimet tE
(3) et wwa awt (4) ot wafa Soh

(1)
(2)
(3)
(4)

A W N =

1[Option ID=18005]
2[Option ID=18006]
3[Option ID=18007]
4[Option ID=18008]

Sl. No.28
QBID:1010003

Separate curriculum for boys and girls was suggested by :

(1) Durgabai Deshmukh Committee (1959)

(2) University Education Commission (1948-49)
(3) Hansa Mehta Committee (1962)

(4) Education Commission (1964-66)

(1) 1
(2) 2
(3) 3
(4) 4

AF AR AfAFIA F 0 gUF M= 1 g3 wE 4 o e

(1) T 5o | (1959) (2) Tavatammem foen s (1948-49)
(3) =1 HEaT 9EE (1962) (4) Torem =M (1964-66)

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=18009]
2[Option ID=18010]
3[Option ID=18011]
4[Option ID=18012]

Sl. No.29
QBID:1010004

In psychoanalytical theory, ego refers to —

(1) pre-conscious area of mind (2) conscious area of mind

(3) unconscious area of mind (4) dynamic area of mind

1 1




(1)  wEM 9 = (2) TEEM =
(3)  mAEMA F aEE (4) TR FT T

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18013]
2[Option ID=18014]

3[Option ID=18015]
4[Option ID=18016]

Sl. No.30
QBID:1010005

Given below are two statements :

Statement I :  Inclusive education believes that our educational system has a problem

1n accommodating the child with special needs.

Statement IT : A child has problems in adjusting with the educational system 1n an

inclusive setting.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement IT are falze

(3) Statement I is true but Statement IT 1s false
(4) Statement I 1s false but Statement II 1s true
(1) 1
(2) 2
3) 3

(4) 4




4= 51 e fRu T

FoA I:  OEEE e 1 G@vam 2 5 ean olidE sgae i "G AavEEae] 99 a954 % 99
4 o A 2

Fod I1: U GEE OEw § a=d F AEs sIaeRn % 9y ge=ag § gee 2 2

IUI HYA F A H, A= WU 70 S 5 H HE 39 S 99 i

(1) =FRIsarIleAoF s

(2) A &R I gF 8 2

(3) w19 2, =T #2911 3799 2

(4)  F [ A6 2, A% w94 [[ 59 2

-~~~
W
Nt
A W N =

(4)

1[Option ID=18017]
2[Option ID=18018]
3[Option ID=18019]
4[Option ID=18020]

Sl. No.31
QBID:1010006

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) ; In 3-D intellect model of intelligence, content parameter includes semantic
aspect.
Reasons (R) : Product parameter of 3-D intellect model includes behavioural aspect.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true




(2) 2
(3) 3
(4) 4

A= & e fog 70 2 : U AR (Assertion (A) % 9 # fafga 2 @ @0 39 FW0T (Reasons
(R) % &9 F :

sifie (A) g4 % 3-8 setae (Wag) "ied | |, amft wree (Yedte) § ffes (sredmead)
TEel e 21

F0 (R) : 3-21 gfg wrea & IeuTe WevEl § SEEn el e Wit 2
I FYA % FErE H, fi9 fon Mo fawedi § @ w6 Iw W 959 fifaw

() (&) 3 (R) ZF = 7 S (R), (A) it 7& =men 2

(2)  (A) 3R (R) SH & &, 96 (R), (A) i T =mem 74 &
(3) (AT, A (R) 38 2

(4  (A) 3= B, A (R) 59 R

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=18021]
2[Option ID=18022]

3[Option ID=18023]
4[Option ID=18024]

Sl. No.32
QBID:1010007

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) :  Brainstorming is a creative technique.

Reasons (R) : Building an idea is creativity.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

(1) 1




(2) 2
3) 3
(4) 4

fi= & ®ua fog 70 2 : wF A (Assertion (A)) % 9 # fafga 2 @ @0 39% FM0 (Reasons
(R)) & &9 H :

sifgme (A):  Foammys wh gemres aeds 2

FAT (R) : us fomm &1 Fmitor gemmeasar e 21
I FYF & e |, Fie fqu mu fawedi § @ g8 swgw I w999 if

(1) (A) 3 (R) SFl 53 8 3 (R), (A) 1 g&l =men 2

(2) (A FR(R)IH T &, qRE (R), (A) H T =En = e
(3 (AT 2, °fF (R) 3 2

(9 (A) 78 2, dfF (R) & &

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18025]
2[Option ID=18026]

3[Option ID=18027]
4[Option ID=18028]

Sl. No.33
QBID:1010008

Active learning is possible when students

(1) Acquire basic skills

(2) Explore numerous paths to solve a problem

(3) Memorise all topics

(4) Motivate to score pass marks only
(1)
(2)
(3)
(4)

afsea wfirm ooy B o= B

() gfed S 5wt

(2)  Toret guen % gam B fafie o g @
(3) @t weRToT W T i

(4) e et i % fon ofa =

A W N =




(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18029]
2[Option ID=18030]

3[Option ID=18031]
4[Option ID=18032]

Sl. No.34
QBID:1010009

As an example of Bodily — kinesthetic ability of intelligence. proposed by Gardner. which of
the following skills can be included :

(1) Jugglering (2)  Architectural
(3) Engineering (4) Sculptorning

(1) 1
(2) 2
(3) 3
(4) 4

e g e Atz % M M dr % seE ¥, e @ -

(1) == (2) AT
(3)  sfienfEER (4) Afd=ri

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=18033]
2[Option ID=18034]

3[Option ID=18035]
4[Option ID=18036]

Sl. No.35
QBID:1010010

The idea of ‘critical pedagogy’ was delivered by :
(1) Zakir Hussain (2) Lev. Vygotsky
(3) John Dewey (4) Paulo Freire

(1) 1
(2) 2
(3) 3
4) 4

ST AT G\ H A A g -
(1) ST 22 (2) =4 =

~

(3) = B (4) EEl W




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=18037]
2[Option ID=18038]

3[Option ID=18039]
4[Option ID=18040]

Sl. No.36
QBID:1010011

Which of the following enhances learning among students and teachers?

(A) Help from more knowledgeable peer
(B) High motivation from the environment
() Formal school enrollment

(D Day-to-day classroom tasks

Choose the most appropriate answer from the options given below :

(1) (A), (B) and (C) only
(2) (A), (B) and (D) only
(3) (B), (C) and (D) only
(4) (A), (C) and (D) only

1) 1
(2) 2
3) 3
(4) 4

ferenfeiett wa sreamaert 21 % meg sfam =t Prafafea 3§ 3 <0 9gm 27
(A) s s Ty @t (safw) @ TEEm

(B)  dmarete § 3= Y

(C)  3i=fes e d amra

(D) fea-ufafen = wan & w0

fr= feu mu fereat o @ ot I w1 =9m i
(1) e (A), (B) 3 (C)
(2) e (A), (B) 3R (D)
(3) %=l (B), (C) 3 (D)

(4) I (A), (C) 3 (D)




(1)
(2)
(3)
(4)

A W N =

1[Option ID=18041]
2[Option ID=18042]
3[Option ID=18043]
4[Option ID=18044]

Sl. No.37
QBID:1010012

Match List I with List 11 :

(A)

(B)
(C)
(D)

List 1

Educationist

Sampurnanand

Gokhale
D.S. Kothari
Ishwarbhai Patel

List IT
View Point
(I}  Introduction of compulsory elementary
education

(II) Emotional integration
(IIT) Socially useful productive work

(IV) Work experience

Choose the correct answer from the options given helow :

(1
(2)
(3)
(4)
(1)
(2)
(3)
(4)

P W N R

(A)-(ID, (B)-(1), (C)-(IV), (D)-(I1T)
(A)-(ID), (B)-(I11), (C)-(T), (D)-(IV)
(A)-(I1D), (B)-(ID), (C)-(IV). (D)-(D)
(A)-(I1D), (B)-(IV), (C)-(I), (D)-(IT)

geft-1% a1 get-11 firem ifir -

(A)
(B)
(C)
(D)

Hr=1 feu mu fasedi ° @ oft 3w 1 w9 i .

(1)
(2)
(3)
(4)

1) 1
(2) 2

i1
fonamsma
HEUT
e
2. ud, ®iei
FraTE T

(A)-(1I), (B)-(I), (C)-(IV). (D)-(I1)
(A)-(1I), (B)~(I1L), (C)-(I), (D)-(IV)
(A)-(I1D), (B)-(1I), (C)-(IV), (D)-(I)
(A)-(I11), (B)-(IV). (C)-(D). (D)-(IT)

Tt I1
e
(1)  stfard unfdm fen g

(I1) WTETeHe Tehdl
(I11) a9t Icaes S
(IV) FEse




(3) 3
(4) 4

1[Option ID=18045]
2[Option ID=18046]
3[Option ID=18047]
4[Option ID=18048]

Sl. No.38
QBID:1010013

Right to Education Act (2009) RTE includes the age group of :

(1) 3-14 years (2) 6-14 vears
(3) 8-14 vears (4) 5-14 vears

(1) 1
(2) 2
(3) 3
4) 4

forem = sfusm sifafem (2009), § smg-oqg afefem 7 -

(1) 3-14 99 (2) 6-14 94
(3) B-1499 (4) 5-145d

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=18049]
2[Option ID=18050]

3[Option ID=18051]
4[Option ID=18052]

Sl. No.39
QBID:1010014

MOOC stands for :

(1) Massive Online Optional Course
(2) Massive Open Online Course

(3) Mass Online Open Course

(4) MMan Online Open Course

(1)
(2)
(3)
(4)

A W N =




T (0 37 a7 ) = e e ® -

(1)  #gga Fems e SiE
(2) fgEa A e S
(3) oI\ s 3 S
(4) 9 e E R

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=18053]

2[Option ID=18054]

3[Option ID=18055]
4[Option ID=18056]

SlI. No.40
QBID:1010015

The term constructivism is used by

(A) Philosophers

(B) Curriculum designers
(C) Psychologists

(o Educationists

(E) Behaviourists

Choose the correct answer from the options given below :

(1)  (B), (C), (D), (E) only
(2) (A), (B) and (C) only
(3)  (A), (B), (C) and (D) only
(4)  (A), (C) (E) and (D) only




tEATERATETg (FegfRelasn) weg % I wat § -

(A) g

(B) WS Fmforenat

(C) MRS

(D) T

(B)  =H=erEmd

4 feu o fosedi § & w81 I w1 =9 Hifsw

(1) %= (B). (C). (D). (E)
(2) e (A), (B) 3 ()
(3)  =Haa (A), (B), (C) 3 (D)

(4) I (A), (C) (B) 3 (D)

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18057]
2[Option ID=18058]

3[Option ID=18059]
4[Option ID=18060]

SI. No.41
QBID:1010016

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Asszertion (A) :  Learning outcomes are the results of educational experiences.

Reasons (R) : Learning outcomes should be decided after concluding the evaluation.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true
1) 1
(2) 2
3) 3
(4) 4




99 & %y feu mu 2 . ww fiEeE (Assertion (A)) %Wﬂ%ﬁiﬁ%ﬁ@ﬂmw {Reasons
(R)) % ®9H :

FAfirRe (A) S srqwat =1 aftoms sfom wfawa 29 #)
1 (R) : e = qvar, st wfawe &1 Frafor e iz

Iqii wUA % e |, A" fou mo fawedi | & wd 3w = i

() (&) # (R) THT 8 & 3 (R), (A) i @8 =men 2

(2) (A IR (R) S a9 &, R (R), (A) F T8 =mEn T 2
(3 (W) E=R, A R) 2

(1) (A yEE 2, A (R) 3 2

(1)
(2)
(3)
(4)

P W N B

1[Option ID=18061]
2[Option ID=18062]
3[Option ID=18063]
4[Option ID=18064]

Sl. No.42
QBID:1010017

Teaching machines are the result of which theory?

(1) Trial and Error theory (2) Classical Conditioning theory
(3) Operant Conditioning theory (4) Insight theory
(1)
(2)
(3)
(4)

Fitam wofiA =0 g = Ui 2 -

A W N =

(1) W= 3R I g (2) oA ATEeA Eg
(3) T A SAEEA Eg (4) =7 TEgE

(1) 1

() 2

(3) 3

(4) 4

1[Option ID=18065]
2[Option ID=18066]
3[Option ID=18067]
4[Option ID=18068]

Sl. No.43
QBID:1010018




According to NEP-2020, middle and secondary stage includes —

(A) 11-14 years
(B) 14-18 years
(C) 08-11 years
(D) 06-08 years

(E) 03-06 years

Choose the correct answer from the options given below :

(1) (A), (C), (D), (E) and (B)
(2)  (A) and (B) only
(3)  (A)and (C) only
(4) (A), (B), (C) and (D) only

(1)
(2)
(3)
(4)

w1341, -2020 % qER weg vd weafys e A affea @ -

A W N =

(A)  11-14 37 =t
(B)  14-18 3wy =
(C) 0811 3mg =t
(D)  06-08 3R =1
(E)  03-06 3mg =7
fra feu o fasmedi # @ |t 3w 1 999 Fifw

() %4 (A), (C), (D), (E) 3 (B)
(2) et (A) 3R(B)

(3) WA (A) 3 (C)

(4) %= (A), (B), (C) 3 (D)

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=18069]




2[Option ID=18070]
3[Option ID=18071]
4[Option ID=18072]

Sl. No.44
QBID:1010019

Universalisation of Elementary Education 1s concerned with
(A) All children between the age group of 6-14 yrs.

(B) Only with the education of girls

(C) All resource utilised for elementary education

(D) Education for all with regard to poverty of people

(E) Article 45 stipulated education for all

Choose the most appropriate answer from the options given below :

(1) (A) and (E) only
(2) (A). (C) and (E) only
(3) (B) and (D) only

(4)  (C). (D) and (E) only

(1) 1
(2) 2
(3) 3
(4) 4




urfers foen & grevitfiesm @ e s 2

(A)  6-14 99 T & oft 7=

(B) e atfersmadt it fran & aran

(C)  wnfers foen = foro aoed smavas gl &1 3w
(D) Feda SET % Ty § ot % fo frem

(E)  31T=¢ 45 Fay & sqan o+ & e e

fr= feu o famedi § @ of 3 w1 == i
(1)  had (A) 3 (B)

(2) % (A), (C) 3R (B)

(3) %=l (B) 3R (D)

(4) %= (C), (D) 3R (E)

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=18073]
2[Option ID=18074]

3[Option ID=18075]
4[Option ID=18076]

Sl. No.45
QBID:1010020

In the context of the Report ‘Learning without Burden' (1993), the back of joy in learning is

due to :
(1) Explosion of western knowledge in Indian classrooms
(2) Vast syllabus

(3) Big, heavy bag that the learner carries to school everyday

(4) The issue of non-comprehension and the lack of engagement of learner with the

processes of learning

(1)
(2)
(3)
(4)

A W N =




o & & de (1993) fodrd & e 4, dhan | s i S W wwm B -

(1) vt wensi | wfvedt qm & gy

(2)  weg TS

(3)  wfafe faeme % fo 93 va wift an =1 & s

(4) s 6 ufsen | franefl & qws s demm % svE * qE

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18077]
2[Option ID=18078]

3[Option ID=18079]
4[Option ID=18080]

Sl. No.46
QBID:1010021

‘Inclusive’ means complete inclusion of the following children :
(A) With special needs

(B) With diverse abilities

(C) Giafted

(D)  With disabilities

(E) Problematic children

Choose the correct answer from the options given below :

(1) (A) and (D) only
(2) (C) and (D) only
(3) (A). (B). (D) and (E) only

(4) (A). (B). (C). (D) and (E) only

(1) 1
(2) 2
(3) 3
4) 4




(A) TafEme sEvEwaen aw

(B)  Tata= sman A

(C)  wiasmEme

(D) ST A

(E) OO = Elﬁ

49 fou U e | 9 wE I #5199 i
(1) &« (A) 97 (D)

(2)  Fad (C) 7 (D)

(3) a4 (A). (B). (D) ¥ (E)

(4)  FaE (A), (B). (C). (D) 311 (E)
(1) 1

(2) 2

3) 3

4) 4

1[Option ID=18081]
2[Option ID=18082]
3[Option ID=18083]
4[Option ID=18084]

Sl. No.47

QBID:1010022

Integrated education helieves that —

(1)
(2)
(3)
(4)

1 1
(2) 2
(3) 3
(4) 4

Each child is different from the other
Teacher and school do not support the child
Teaching aids are inadequate

Learning Environment is not conducive




whieha foren feagamm e 2 -

(4

(1) 1
(2) 2
(3) 3
4) 4

gk W= A B

s 3N foamer aee w1 geEm 9E w5 2
forer wrarrss amft srata 2

FiferTy aTETET 3R T 2

1[Option ID=18085]
2[Option ID=18086]
3[Option ID=18087]
4[Option ID=18088]

Sl. No.48
QBID:1010023

Category of human trait/s proposed by Allport is/are

(A)
(B)
(©)
()

Aesthetic trait
Cardinal trait
Central trait

Secondary dispositions

Choose the most appropriate answer from the options given below :

(A) and (B)
(B) and (D) only
(A), (B) and (C) only

(D) and (A) only




AT BT Y rF'IJ,FI. oA T LI':'MI AL Tl% :

(A)  =rsAwE e
(B) MUY e
(C)  F=Z/ e

(D) i fEaE

4/ 120 U fEEed | ° "Rl 3 F 999 i
(1) === (A) #1 (B)

(2) === (B) 31 (D)

(3)  FaEe (A). (B) 3R (O)

(4) === (D) FE (A)

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=18089]
2[Option ID=18090]

3[Option ID=18091]
4[Option ID=18092]

Sl. No.49
QBID:1010024

The correct sequence of mind in Freud's theory of personality will be —

(A) Superego
(B) Ego
(C) Id

Choose the correct answer from the options given below :

(1) (A), (©), (B)
(2) (B). (A). (C)
(3) (C), (B), (W)
(4) (A), (B). (C)




(3) 3
(4) 4

S F e g § AFE (W1Ees) F 9A FE 2 -

(A) = 3= (G| )

[

(B) = (37EH)

© 7 (%)

4= fou e TEed § 5 "E I #1994 i

(1) (A). (C). (B)
(2) (B). (A). (C)
(3) (C). (B). (A)

(4) (A). (B). (C)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18093]
2[Option ID=18094]

3[Option ID=18095]
4[Option ID=18096]

SlI. No.50
QBID:1010025

(Given below are two statements :

Statement | :  Psychological motives work within the individual

Statement I1 :  Psychological motives are not directly related to classroom learning.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement Il are true
(2) Both Statement I and Statement 11 are falze
(3) Statement [ is true but Statement II is false

{4) Statement [ is false but Statement 11 is true

(1) 1
2) 2




3) 3
(4) 4

1 A e o e

o [ HAESEE 3000F UF =40 A5 w5 A B

FA I[: TS 300F Far Ao o 700y 9 8 grEied a6 2|

ITE FUA F AEF 4, = 50 T @ § " mE 39 F =99 e

(1) #1379 o &
(2) o I3k I ZMA 579 &
(3)  #F 19 2, =ik FoF 11 50 2

(4)  FoE 139 2, wAfFA w9 1159 2

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18097]
2[Option ID=18098]

3[Option ID=18099]
4[Option ID=18100]

Sl. No.51
QBID:1010026




Given below are two statements :

Statement [ :  Eucational psychologists work to improve educational system.

Statement 11 :  Educational psychologists study about student development.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement 11 are false
(3) Statement [ is true but Statement 11 is false

(4) Statement [ is false but Statement 11 is true

1) 1
(2) 2
3) 3
(4) 4

e gt wum e me 2 -
wed 1: Sifars wEetae e sreen =1 gur & & =19 )

Fu [ . difers gaasnfis fremeff & e & fma § s =@ 2

ITF F2F & FErs °, 9= fow mu ot § ¥ gdt 3 = =55 Fifau

(1) wEFlamIleHasd
(2) w3 112 3/ 8
(3) %Y [T g, ofe sy 11 3759 2

(4) %Y [ 375 8, wfea wy= [ o 2

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=18101]
2[Option ID=18102]
3[Option ID=18103]
4[Option ID=18104]

Sl. No.52
QBID:1010027




Given below are two statements : One iz labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) :  Behavioral learning processes include contiguity learning, classical

conditioning, operant conditioning and observational learning.

Reasons (R) : Most theorists agree that learning occurs when experiences do not change a

person’s knowledge or behaviour.

In the light of the above statements, choose the most appropriate answer from the options

given below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

(1) 1
(2) 2
(3) 3
(4) 4

fr= & wya fou 70§ : uF fEUA (Assertion (A)) % 9 # foftga 2 9t g0 39% FW0 (Reasons
(R)) % &7 4 :

sfimem (A) srerTs Aty wfem § afwfem 8 ofas sfom, smefm sagem, e wga
IR 3t e st

%1 (R) : sifeere wrelt @ena £ f us =af % 99 @ s=en | 9w g afeds 7 g 2
74 TE God ¢ (% 394 Fo )

ITAF F2E & R °, A= f2u o et | 3 gdt 3 = === Fifau

(1) (A) 31 (R) TH &6 & 3l (R), (A) it @& =men @
@ (W3R ®) I G E S R), () B R =TEen 7@ 2
(3) (M)A R, fH (R) 98 76 2
(4) (&)@ T R, @l (R) & @
(1) 1
(2) 2

3) 3
(4) 4

1[Option ID=18105]
2[Option ID=18106]




3[Option ID=18107]
4[Option ID=18108]

Sl. No.53
QBID:1010028

Match List I with List I1 :

(A) Eduecation is
(B) Education is
(C) Education is
(D)  Education is

List I
Process
training
schooling
culture

upbringing

List IT

Form
(I} Liberal education
(II)¥  Emotional education
(11T} Vocational education

(IV) Formal education

Choose the correct answer from the options given below :

(1) (A)-(I1T), (B)-(11), (C)-(I), (D)-(IV)
(2) (A)-(D), (B)-(ID), (C)-(I1I), (D)-(IV)
(3) (A)-(I1D), (B)-(IV), (C)-(1T), (D)-(T)
(4) (A)-(IV), (B)-(D), (C)-(IL), (D)-(I1I)

(1)
(2)
(3)
(4)

g1 % =1y w1 get-

A W N =

B
C

e’

forem gepfa 2

e

(
(
(
(

#= few mu faweai o

11 e Hifaw .

gefi-1
ufseen

A)  Torem wfdemor 2
foren fermerdienm 2

D) forem 9e™ g 8

Y TEl I 1 T HifA

(D (A)-(I11), (B)-(1D), (C)-(I), (D)-(IV)

(2) (A)-(D). (B)-(

11), (C)-(ILD), (D)-(IV)

(3) (A)-(I11), (B)-(IV), (C)-(ID), (D)-(T)

(4) (A)-(IV), (B)

(1)
(2)
(3)
(4)

A W N =

1[Option ID=18109]
2[Option ID=18110]
3[Option ID=18111]
4[Option ID=18112]

-(D), (C)-(IL), (D)-(I11)

gHI-11
u-faum
() Serard fran
(II) wiafe fan
(I11) =reafas e
(IV) sfro=rfes fran

Sl. No.54




QBID:1010029

Which is not the characteristic of formal education?

(1) All-on-sudden process of education
(2) Degree providing education
(3) Time-bound education
(4) Prescribed curriculum based education
(1) 1
(2) 2
(3) 3
(4) 4
Iitq=nfees foren < favreen == 6 98 27
(1)  foem i s whean
(2) Iy wem G

(3) uwg =g e
(4) Trutfe sl snafa fen

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18113]
2[Option ID=18114]

3[Option ID=18115]
4[Option ID=18116]

Sl. No.55
QBID:1010030

Which philosophy does not accept ready-made concepts of society?

(1) Pragmatism (2) Naturalism
(3) Existentialism {(4) Idealism
(1) 1

(2) 2

(3) 3

(4) 4

T O 29 IO i S -aTE ST ST T6 -

(1)  vEEEaR (2) THEET
(3) SIGE % (4) = *.“‘r" F
(1) 1
(2) 2
(3) 3

(4) 4




1[Option ID=18117]
2[Option ID=18118]
3[Option ID=18119]
4[Option ID=18120]

Sl. No.56
QBID:1010031

Which of the following is/are the objectives of vocational guidance?
(A) To identify own talents.

(B) To diagnose learning difficulties

(C) To get information about new vocations

(D) To acquire knowledge about occupations.

Choose the correct answer from the options given helow :

(1) (A), (B) and (C) only
(2) (B), (C) and (D) only
(3) (A), (C) and (D) only

(4) (C) and (D) only
(1) 1
(2) 2
3) 3
(4) 4

frferfian & @ saafas Bl = wwa & -
(&) 3o wfes it gEEE =

(B)  ztform gwEnst & fem e

(C) o =raamE & fawa § gue wm S
(D) Siifae & fawg d 7@ #fda w0

= fou o fasedt § @ o I w1 999 i
() == (A), (B) 3 (O)
(2) &« (B), (C) 3R (D)
(3) e (A), (C) 3R (D)

(4) @& (C) 3R (D)
(1 1
(2) 2
(3) 3
4) 4




1[Option ID=18121]
2[Option ID=18122]
3[Option ID=18123]
4[Option ID=18124]

Sl. No.57
QBID:1010032

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A):  The National Edueation Policy, 2020 emphasizes on rootedness and pride

in India.

Reasons (R) : The rich heritage of ancient Indian knowledge and thought has been a

guiding light for this policy.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

(1)
(2)
(3)
(4)

fra 31 ey fou 7o € : uw SAfTERE (Assertion (A)) % ®9 # fofaa 2 &t @90 39% ®W0 (Reasons

CHEEZE: IF

A W N =

stfimryE (A) g foran Hifg-2020 wiE & gg-q@ F0 3t e waE 2

FH (R) : 77 Hfifa agg w9 faEm 8 fdhe 2
I %Y % Hers 4, A9 fou mu fasedi | & wdt 3w w1 99 Sifg

(1)  (A) 3 (R) &1 & & 3 (R), (A) i =&t =men 2
(2)  (A) 3 (R) T T &, afw R), (A) F G =mEn T 2
(3) (A T= 2, & (R) 3w 2

(1)  (A) @3 B, e (R) g 2
(1) 1
(2) 2
(3) 3




(4) 4

1[Option ID=18125]
2[Option ID=18126]
3[Option ID=18127]
4[Option ID=18128]

Sl. No.58
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Extrinsic programmed learning 1s also called as —

(1) Linear programmed learning
(2) Branching programmed learning
(3) Mathatic programmed learning
(4) Chaining programmed learning
(1) 1
(2) 2
(3) 3
(4) 4

o i:-_-] -:'p:lrih'}qu. ] -ﬂ_:]j.._-'flq _-FF ':Fr-n: f -

(1) T At seeE

(20  wdE sty SEgTE
(3)  HAF AIHEA FomH

@) siafra st s

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18129]
2[Option ID=18130]

3[Option ID=18131]
4[Option ID=18132]

SI. No.59
QBID:1010034




Given below are two statements :

Statement [ :  In constructivism, the teacher presents a puzzling event, equation or
problem.
Statement I1 :  Students formulate hypotheses to explain the event or solve the problem

In constructivism.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I1 are true
(2) Both Statement I and Statement I1 are falze
(3) Statement [ is true but Statement 11 is false

(4) Statement [ is false but Statement I is true

(1) 1
(2) 2
(3) 3
(4) 4

et & e fog o E
FUH 1:  TEATHEAETE H, S Tael THiR 1 T Sed S 2

FuH [[:  TEarcHeharag # feemeff gen 6 smen & gfiwern vfoufea s 8 @ guen g9 = 21

ITUF HUA & = 8, = e o ot 8 4 ot 39 w1 === Sifau

(1) =W IsRIlgHiaas
(2)  wuA I3 I ST ame 8
(3) %Y 199 8, ofes &y 11 378 2

(4) %Y [ 3769 8, wifea sy [ 59 2

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=18133]
2[Option ID=18134]




3[Option ID=18135]
4[Option ID=18136]

Sl. No.60
QBID:1010035

Given below are two statements ;

Statement [ :  Teachers are central to the twenty first century learning environment.

Statement [1 :  Teachers have the responsibility to contribute knowledge.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I1 are true
(2) Both Statement I and Statement I1 are false
(3) Statement [ is true but Statement II is false

(4) Statement [ is false but Statement I1 is true

(1)
(2)
(3)
(4)

9 @ Fya fep mo & -

A W N =

Fyq [ ghodl wared & it amae § e e 6 2

Fug 11:  Toeres &) foareht @ 3@ 21

ITUH HUA o HAS °, A fGu mu fomedi @ 8 gdt 3 w1 =55 Sifau

(1)  @ye [ 3 I <H o0 8
(2) w3 [ 5 3/ &
(3) &u9 [ 99 &, oifs sy 11 315909 2

(4)  ®YF [ 39750 8, wifeea sua [0 2

(1)
(2)
(3)
(4)

P W N =

1[Option ID=18137]
2[Option ID=18138]




3[Option ID=18139]
4[Option ID=18140]

Sl. No.61
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Given below are two statements :

Statement [ :  Critical pedagogy provides an opportunity to reflect critically on issues

in terms of their political, social, economic and moral aspects

Statement I1 :  Critical pedagogy rejects multiple views on social issues.

In the light of the above statements, choose the most appropriate answer from the options

given helow :

(1) Both Statement I and Statement Il are correct
(2) Both Statement I and Statement I are incorrect
(3) Statement [ is correct but Statement I1 is incorrect
(4) Statement [ is incorrect but Statement I1 is correct
(1) 1
(2) 2
(3) 3
(4) 4
= gt Fya feg o & -

FeH 1. FerEATEs emwms aedfas, gmfas, sfls st e w5 e gwon w
Hrerraareae faaq &1 U 3EET 0= Sl 21

wud I1: st fameme amfas g & agfay gfesm S srefien F 2)

I FUF & e 8, F9= g M faeeni § & e 39w I % =59 Sife

(1) %% [ 3 112 adt &
(2)  ®uF [ 3R 1 EH e 8
(3)  wu [ = B, oifer s 11 e 2

(4) HYF [ 7Ted B, S wue (o 2

(1) 1




(2) 2
(3) 3
(4) 4
1[Option ID=18141]
2[Option ID=18142]

3[Option ID=18143]
4[Option ID=18144]

Sl. No.62
QBID:1010037

Given below are two statements : One iz labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : We can measure or evaluate people.

Reasons (R) : We can measure or evaluate the characteristies of people.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

-~
W
N
A W N =

A= & ey for o 2 : v AN (Assertion (A) % ®9 7 fafa 2 @ g@0 39% FW0T (Reasons
(R) % &9 4 :

sifiRer (A): &9 @ R wifE @ geaifhd w Aehd 71
F1 (R) : &q & &t fagraatt it wifa a1 geafea @ T 2

I YA & Wk 8, J9 fou mu famedi 4 8 od 3 =1 939 Fifau

(1) (A 3 (R) g1 & 8 5 (R), (A) it 5dt = 2
2 (A 3R FH T E, & ®), (A) F T =mEn T 2
(3) (AT=? e R) TR

(4) (A 383 8, | (R) 99 2

1) 1
(2) 2




3) 3
(4) 4

1[Option ID=18145]
2[Option ID=18146]
3[Option ID=18147]
4[Option ID=18148]

Sl. No.63
QBID:1010038

Foundational stage of scholling according to NEP-2020 is :

(A)
(B)
(C)
(1
(E)

Anganwadi
Pre-school
Balvatika
Class 1 and 2

Class 1to 5

Choose the correct answer from the options given below :

P W N R

(A), (E), (D), (B) and (C)
(A). (B), (C), (D)

(A), (B), (C) and (E)

(D), (E) and (B)




w1.3.9.-2020 srEm foen w gfEd w2

(A)  ITHETEY
(B fremaad
(C)  arerarfes

(D) &1 32

(E) &1 185dh

Hra feu mu fasedt § € @d I w1 9 Fifaw
(1) (A), (E), (D), (B) 31T (C)

(20 (A), (B), (C) 3 (D)

(3) (A, (B), (C) 3N (E)

(1) (D), (E) 3 (B)
(1) 1
(2) 2
(3) 3
@) 4
1[Option ID=18149]
2[Option ID=18150]

3[Option ID=18151]
4[Option ID=18152]

Sl. No.64
QBID:1010039

Given below are two statements :

Statement | :  Major problem of girls’ education in rural areas is lack of proper social
attitude.
Statement 11 :  Economic background of rural community does not pose a problem for

girls' education.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement 11 are true
(2) Both Statement I and Statement I1 are false
(3) Statement [ is true but Statement 11 is false

i(4) Statement [ is false but Statement I1 is true




(1) 1
(2) 2
(3) 3
4) 4

9 g e fgu e 2

wed 1: grfio & § anfermadi & foren <t g awen gafaa annfas sifigf o s )

®e [1:  onftm agee 6t anfds gyl ssfea 1 fran % foo guen 9 w6 =

I FYF F e 8, = fgn m fwedi § 8 wed I9ge W % 5 #ife

(1) = [ 38 113+ a8t &
(2) %A [ 3 [ EH TeE &
(3)  wwA 1 T8 2, efe wea 1 reE 2

(4) Fu [ 7erd B, oifeha Fee 11 o8t 2

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18153]
2[Option ID=18154]

3[Option ID=18155]
4[Option ID=18156]

Sl. No.65
QBID:1010040

Which of the following is used under non-directive counselling approach?

(1) Lecture (2) Discussion
(3) Interview (4 Survey
1) 1
(2) 2
(3) 3
(4) 4

sifrefom womet Surmm % e S e E -

(1) = (2) Toram-fems
(3) =R (4) wEam
(1) 1

(2) 2




(3) 3
(4) 4

1[Option ID=18157]
2[Option ID=18158]
3[Option ID=18159]
4[Option ID=18160]

Sl. No.66
QBID:1010041

The highest level in the hierarchy of needs theory is —

(1) Aesthetic (2)
(3) Esteem (4)

(1) 1
(2) 2
(3) 3
4) 4

FEvHA g & TgEE % AT HeEreEe § -
(1)  Hrgaiors (2)

(3)  EHH (1)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18161]
2[Option ID=18162]

3[Option ID=18163]
4[Option ID=18164]

Safety

Self actualization

HiEm

Sl. No.67
QBID:1010042

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).
Asgertion (A) :  Army Alpha Test is meant for illiterate persons.
Reasons (R) : Army Beta test is the form of a non-verbal test.

In the light of the above statements, choose the most appropriate answer from the options

given helow :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct




(2) 2
(3) 3
(4) 4

4= =1 %o f5u £ ;v iy (Assertion (A)) # =9 0 foiga 2 A T 70 F (Reaszons (R))

FEYH :
AMTF (A) T} w7 e S F e ahem 2)
F (R) : STl sz e U f-Tniesd WiE i UEE F

I FYA F I 1, S 5 T e § o ge 39T 3 F 99 Fe

(1) (A) 3 (R) 2H1 &5 & 31 (R). (A) #i 981 =aeT 2
(2) (A) 31 (R) =A1 T&1 2, = (R), (A) Fi T8 =gwem 9351 2
(3)  (A) T 2, wite (R) T8 781 2

(4) (A —F = 2, |l (R T E

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18165]
2[Option ID=18166]

3[Option ID=18167]
4[Option ID=18168]

Sl. No.68
QBID:1010043




Given below are two statements : One iz labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A):  Learning is influenced hy peers.

Reasons (R) : School norms can encourage peer support.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

(1) 1
(2) 2
(3) 3
(4) 4

fr= gt %u= fau 7 2 ; uw wfwEa (Assertion (A)) % ®1 # foflaq 2 @ go@ 309% W0 (Reasons
(R)) & &1 7 :

Ffrwmya (A) - auhe gifeat grn st wnfaa 2 21
%1 (R) - Ferarera o guser aifeEl & gEam Fi greaTtEE S g 2

I FYA & Hens |, fie fgu mu femedi @ @ gew swe I w9 Fifn

(1) (A) 3R (R) THI & & 3 (R), (A) 51 Hel = &

@ (3R I E A R), () F TR e @ 2
(3 (A" R, w6 (R) @ 74 @

(4 (A =E 2, @ (R) w8 2

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18169]
2[Option ID=18170]

3[Option ID=18171]
4[Option ID=18172]

Sl. No.69
QBID:1010044




Match List [ with List I1 :

(A)
(B)
(€)

(D)

List I List IT
Reinforcement Schedule Example
Continuous (I} Pop quizzes
Fixed Interval (II) Turning on the television

Variable interval

Fixed Ratio

(III) Telemarketer gets a bonus after every
100 credit cards enrolled

(IV) Studying as weekly quiz approach

Choose the correct answer from the options given below :

(1) (A)-(1), (B)-(IV), (C)-(IT), (D)-(I11)
(2) (A)-(II), (B)-(I), (C)-(I1I), (D)-(IV)
(3) (A)-(D), (B)-(IT), (C)-(I1L), (D)-(IV)
(4) (A)-(1I), (B)-(IV), (C)-(I). (D)-(I11)
(1) 1
(2) 2
3) 3
(4) 4
-1 % @y 1 g=-11 foem Fifse
T=-1 T-I1
A 3TE
(A) Taq () o fFa
(B) Miv=d s=e (I) ZeAta= =l 34 F=
(C) TiEaHE = (III) wea= 100 F(s2 IS A=A F G791 ZAah2T 1 598 Hedl 2
(D) Tfw=a e (IV) wrHI=d fes o= & &9 | 59533
4= 50 T TEFeT § 9 "9 39 H 99 HiE
(1) (A)-(I), (B)-(IV). (C)y-(II), (D)-(11I)
(2) (A)-(IL). (B)-(I). (C)-(III). (D)-(IV)
(3) (A)-(T). (B)-(IL). (C)-(IID). (D)-(IV)
(4) {A)-(ID). (B)-(IV). (C)-(L). (DH-(I11I)
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=18173]
2[Option ID=18174]
3[Option ID=18175]
4[Option ID=18176]




Sl. No.70
QBID:1010045

(Given below are two statements ;

Statement [ :  Democracy is based on faith in the dignity and worth of the majority.

Statement [1 :  No education is worth the name which does not inculcate the gualities
necessary for living graciously, harmoniously and efficiently with one's

fellow people.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement [ are incorrect
(3) Statement I is correct but Statement I1 is incorrect
(4) Statement I is incorrect but Statement 11 is correct
(1) 1

(2) 2

(3) 3

(4) 4

F= =1 Foe fgm e E

FoA [: T B STSE SEEG T S T ® e w R
Fo IL: his o1 s1om 7 i =fend 98 #di 3R 97 31| =@ | % w Semgl, e v
TTiETYo! T | A F O R |

ST FUE F A H, A 5 fEe | O wed v 3w = Fie

(1) =59 13 oA 94 &
(2) w138 59 oG 2

(3) = 199 2, ot #eA I 7ea 7

(4) w17 7, witeed e I oe 7

1) 1
(2) 2
3) 3
(4) 4




1[Option ID=18177]
2[Option ID=18178]
3[Option ID=18179]
4[Option ID=18180]

Sl. No.71
QBID:1010046

‘Looking Glass Self’ theory of socialization was proposed by —

(1) Mead (2) Cooley
(3) Freud (4) Durkheim

(1) 1
(2) 2
(3) 3
4) 4

FaTsita & ‘df e dew fagra w1 wega e -
() e (2) Ft
(3 WS (4) <EREH

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18181]
2[Option ID=18182]

3[Option ID=18183]
4[Option ID=18184]

Sl. No.72
QBID:1010047

Alfred Binet was a Psychologist

(1) English
(2) Russian
(3 French
(4) Italian
(1) 1
(2) 2
3) 3
(4) 4




= F"‘.“ W N 3 : i~ - ?-:ﬂ

(1) TS
(2) =51
(3)  ETEE
(4) e
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=18185]
2[Option ID=18186]
3[Option ID=18187]
4[Option ID=18188]

Sl. No.73
QBID:1010048

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) :  Learning goal is related with assessment
Reasons (R) : The teacher focuses on the improvement of classroom learning through
feedback.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(1) (A) is not correct but (R) is correct

(1) 1
(2) 2
(3) 3
4) 4




= 2 F2m feu mu € ;. ww #AfERE (Assertion (A)) %Wﬁ%‘f@ﬁ%ﬁwmm {(Reasons
(R) # &I H :

i (A) FfeTs Seg geareha | Traf )

I (R) : e wfaafe g e sfrm & gun w e g 2
I wY & e |, i fou mu femedi § | geg 3wy I w99 ifs

(1) (A 3R R) & & E 3 (R), (A) F = |

(2) (A I (R) I FE E, Al (R), (A) hi T = = 2
(3) (A w2, afF R) @ A 2

(4 (A) = T 2, @A (R) 5@ 2

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18189]
2[Option ID=18190]

3[Option ID=18191]
4[Option ID=18192]

Sl. No.74
QBID:1010049

Which of the following(s) reflects upon nature of guidance?
(A) Rendering help to others.

(B) Directing to solve the problems.

(C) It is formal only.

(D) It iz adjustment.

Choose the correct answer from the options given helow :

(1) (A), (B) and (C) only
(2) (A), (B) and (D) only
(3) (B}, (C) and (D) only

(4) (A) and (B) only

-~
W
N
A W N =




=ifcifaa @ 9 F9 qreeE F1 THiG i e 27
(&) T HGE 9EE

(B)  OAu=THT F 5 A 1 Hew

(C)  I% Fae A= &

(D) IE UF OHEEE B

H= fou o oo | 5 991 I #1994 Fia
(1) &= (A). (B) 317 (C)
(2)  Fae (A). (B) #1 (D)
(3) &= (B). (C) 31 (D)

(4)  F=H(A) 3 (B)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18193]
2[Option ID=18194]

3[Option ID=18195]
4[Option ID=18196]

Sl. No.75
QBID:1010050

According to NEP-2020, the structure of education will be —

(1) 8+3+2+2 (2) H+3+3+4
(3) 4+5+2+4 (4 10+2+3
(1) 1

(2) 2

(3) 3

(4) 4

NEP-2020 % 3rqam fan 1 gfen gm -

(1) B+3+2+2 (2) 5+3+3+4
(3) 4+5+2+4 (4 10+2+3
(1) 1
(2) 2
(3) 3

(4) 4




1[Option ID=18197]
2[Option ID=18198]
3[Option ID=18199]
4[Option ID=18200]

Sl. No.76
QBID:1010051

ITEP in NEP-2020 is being proposed for —

(1) In-service teacher education
(2) Pre-service teacher education
(3) Traditional teacher education
(4) Alternative teacher education

(1) 1

(2) 2

3) 3

(4) 4

NEP-2020 # ITEP Yeaifaa e =1 @1 2 -
(1)  Harwree e e

(2 & T foers foan

(3) e e e

()  Sfoas e foan

(1) 1
(2) 2

(3) 3

(4) 4

1[Option ID=18201]
2[Option ID=18202]

3[Option ID=18203]
4[Option ID=18204]

Sl. No.77
QBID:1010052

The term ‘microteaching’ was coined by —

(1) B. S. Bloom
(2) D.W. Allen
(3) B. K. Pasi

(4) Krathwohl

(1) 1
(2) 2
(3) 3
4) 4




“gem e’ weg formeh g feam oo -

(1)

(4)

(1) 1
(2) 2
(3) 3
(4) 4

o1, UH. =M
g, gy, TeH
1. =, urt
ERCIE

1[Option ID=18205]
2[Option ID=18206]
3[Option ID=18207]
4[Option ID=18208]

Sl. No.78
QBID:1010053

M.K. Gandhi while formulating his ideas on education.
(A) emphasised the self reliance

(B) emphasised dignity of the individual

(C) emphasised the use of the immediate environment.

(D) emphasised the use of English as means of instruction.

() emphasised on written examination

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)
(1)
(2)

(3)
(4)

A W N =

(A), (B) only
(A), (C), (E) only
(C), (D), (E) only
(A), (B), (C) only




wn. . Wt 7 T w T g o]

(A)  FATHFAEE TSR

(B) =4t = AT W AN

(C)  dchied TR0 % 3990 9 HE

D) Toen d w23 ¥ fov oneh F 3Ee W AR

(E) oAt e @ =in

4= f5u T TEeT § 9 9E 39 F 994 Fin
(1) == (A), (B)

(2)  Fa (A). (C). (E)

(3)  F=F(C). (D). (B

(4) Fae (A), (B). (O)

(1) 1
2) 2
(3) 3
(4) 4
1[Option ID=18209]
2[Option ID=18210]

3[Option ID=18211]
4[Option ID=18212]

Sl. No.79
QBID:1010054




Given below are two statements :

Statement [ :  Inclusive education accepts differences and celebrates diversity.

Statement I :  Inclusive education is confined to the disabled.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement [ and Statement I are correct

(2) Both Statement I and Statement I are incorrect
(3) Statement [ is correct but Statement I is incorrect
(4) Statement I is incorrect but Statement 11 is correct
(1) 1

(2) 2

(3) 3

4) 4

Hra 2t e feu o E -

wuq [ gorash e fafimmst = e s 2 3 fafaaa s g st 21

Fuq 11:  oorash fren famam a & diftm 20

I FYF & FWErs |, F= o mu fawedi 4 @ e 3wy I w = i

(1) e [ 3 113 ad &
(2) a3 11 EHT o &
(3) == 1T 2, fe w2 [ mem 2

(4)  ®eE 1 7ed 8, ek e 11 a8t 2

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=18213]
2[Option ID=18214]
3[Option ID=18215]
4[Option ID=18216]

Sl. No.80
QBID:1010055




Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : Formative assessment occurs during the instruction only.

Reasons (R) : The purposes of formative assessment are to guide the teacher in planning

and improving instruction and to help students improve learning.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 1s true but (R) is false

(4) (A) 1s false but (R) is true

(1) 1
(2) 2
(3) 3
(4) 4

fa @t ®ya fow o 8 : ww sAfieua (Assertion (A)) % ®9 # fafga # @t g0 39% #W0 (Reasons
(R)) % ¥9H :

stfigmeE (A) - TS ke had fiam & A g2 2

HR (R) : TEARHE e w1 327 e & e g9 3 fEw § gun w6 i el .
I dres § gur #13 § "eg w1 21

I FUE & HWes |, Fi9 fgu m fawedi ¥ @ gew swe I o =399 fifsw

(1) (A 3R (R) A1 581 & 3 (R), (A) F1 98t == 2
(2) (A3 (R) FF T E, ST (R), (A) i TF =men 7485 2
(3) (A ®HF 8, wfe (R) e 7

(4)  (A)7e B, ®fT (R) 9 2
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=18217]
2[Option ID=18218]




3[Option ID=18219]
4[Option ID=18220]

Sl. No.81
QBID:1010056

Given below are two statements :

Statement I :  Educational Management Information System (EMIS) 1s to maintain
the organisation processing the educational activities.

Statement II : It 1s using data to produce information.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
() Both Statement I and Statement I are falze
(3) Statement I 1s true but Statement II 1= false
(4) Statement I 1s false but Statement II 1s true

(1) 1

(2) 2

3) 3

(4) 4

= 71 E fgu T

FoA I: e vae g Tt (EMIS) Siars iataiaal =1 SEmad - 91 5734 1 5910 T@d9t 2

Fo I1: % g=1 90 1 & 90 220 F1 39Er F 2

SR YA AR §, J 50 0 ST 6 6w I I ] WA i

(1) = I3 Il = 53 2

(2) e I3 Il 5F e =

(3)  FuE 1 Oeg 2, A #9917 7
(4)  FoE 174 2, @A %99 [T 7
(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=18221]
2[Option ID=18222]
3[Option ID=18223]
4[Option ID=18224]

SlI. No.82
QBID:1010057




Which is effective for non-directive counselling?

(A) Training of the counsellor only.

(B) Rapport development with the students.
(C) Expert in using psychological tests.

(D Fluency in communication

(E) Both formal and non-formal mode of counselling.

Choose the correct answer from the options given below :

(1) (A), (E), (C), (D) only
(2) (A), (C) and (B) only
(3) (B). (C). (D) and (E) only

i(4) (A) and (E) only
(1)
(2)
(3)
(4)

A W N =

(A)  Fae FEEA B TEAT
(B)  DEI F WY AHA H IHE
(D)  ==w A fHguE

F= fou Mo T © O wE I w = i
(1) a4 (A). (E). (O). 317 (D)

(2) =« (A). (C) 5 (B)

(3)  Fa= (B). (C). (D) AR (E)

4)  FAE (A) IR (E)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=18225]
2[Option ID=18226]

3[Option ID=18227]
4[Option ID=18228]




Sl. No.83
QBID:1010058

The formal agency of education is/are

(A) Family
(B) School
() University

() Autonomous College

Choose the correct answer from the options given below :

(1) (A) and (D) only
(2) (B) and (C) only
(3) (B}, (C) and (A) only

(4)  (B), (C), (D) only

(1) 1
(2) 2
3) 3
4) 4
fien €t Fioafes vedi 22
(A) dfEm
By TEA
() faufaamm

(D) @Y HeErfaaeE

fra feu mu fapeat § @ wdt 3w +1 =99 i
(1)  a« (A) 3 (D)

(2) e (B) 3R (O)

(3)  %ad (B), (C) 31 (A)

(4) %= (B), (O), (D)

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=18229]
2[Option ID=18230]




3[Option ID=18231]
4[Option ID=18232]

Sl. No.84
QBID:1010059

In a wider sense. education is a process of :

(1) Every experience in life

(2) Moulding knowledge of adolescents
(3) Identifying our potentialities.

(4) Change in attitude only

(1) 1
(2) 2
(3) 3
(4) 4

=F AG1 H, 98 U uiE

(1) Tfﬁa:[q?'fﬂ'—!‘qa'jn‘[

(2)  TFURl F 99 9 afEdd F w
(3)  =AFI wma F wEEE A
(4)  Fa= gfewm § gfEd =

1) 1

(2) 2

(3) 3
(4) 4

1[Option ID=18233]
2[Option ID=18234]
3[Option ID=18235]
4[Option ID=18236]

Sl. No.85
QBID:1010060

‘Bociology of Education’ is an applied branch of
(1) Sociology (2) Education
(3) Social work (4) Society

(1) 1
(2) 2
(3) 3
4) 4

'E‘Tl’m'l’?l’ IS e r-r-xﬁﬁrzxrp.m?r?r:‘.; ?"'-,':'

(1) === (2) forem
(3)  =wEIEE wE (4) =EH
1) 1

(2) 2




3) 3
(4) 4

1[Option ID=18237]
2[Option ID=18238]
3[Option ID=18239]
4[Option ID=18240]

Sl. No.86
QBID:1010061

The other name of two factor theory of intelligence is —

(1) Monarchic theory (2) Eclectic theory

(3) Anarchic theory {4) Factor theory

(1)
(2)
(3)
(4)

qtg + TgFeF g +1 g am 2

A W N =

(1)  uHaE fogE (2) TT=aF HgE
(3)  Imwi fogE (4) = fagE
1 1

(2) 2

(3) 3

(4) 4

1[Option ID=18241]
2[Option ID=18242]
3[Option ID=18243]
4[Option ID=18244]

Sl. No.87
QBID:1010062

‘Father of Behavioursim’ is —

(1) Watson (2) Crow and Crow
(3) Cattell (4) Erickson

(1) 1

(2) 2

(3) 3

(4) 4

‘SIIERETE F ATH & -

(1)  =eEd (2) 3 I H
(3)  hew (4) v
(1) 1

(2) 2

3) 3




(4) 4

1[Option ID=18245]
2[Option ID=18246]
3[Option ID=18247]
4[Option ID=18248]

Sl. No.88

QBID:1010063

Which is incorrect regarding Sarva Shiksha Abhiyan?

(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

It 1s implemented exclusively for girl child
It 1= the responsibility of both State and Central Governments
It 1= providing quality elementary education for all

It was launched in 2001

od e A= = Fwy 3 = Teld 27

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

77 Ta9 =9 | Ao % o |y e w2
7z Tt F 170 TUEETE W e 9EE R T R

T8 2001 H v T w0 o

1[Option ID=18249]
2[Option ID=18250]
3[Option ID=18251]
4[Option ID=18252]

Sl. No.89

QBID:1010064




Process of Education was criticised by Rousseau due to

(A)
(B)
(C)
(D)
(E)

Natural way of education

Moral education through books

Lack of use of knowledge

Child's own way of experiencing knowledge

Freedom to express innate qualities

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(1) 1
(2) 2
3) 3
(4) 4

(A) and (D) only
(D) and (E) only
(B) and (C) only

(B) and (E) only

T =W B9 gRT [ Wi il A= s

(A)  wTHlaH =9 ° fae

(B) &= & "ieAH | Afaw fman

(C) T = 3uFr Hi FHl

(D) == F T F A T B AT A
(E) == o1 =l =0 T i w=aad

Hr= fou o faweai 9 © T 3 1 9 HiEw
(1) et (A) 3R (D)

(2)  @a (D) 3N (E)

(3)  FaA (B) #W (C)

(4)  Fa= (B) 91 (E)

(1) 1

(2) 2




3) 3
(4) 4

1[Option ID=18253]
2[Option ID=18254]
3[Option ID=18255]
4[Option ID=18256]

Sl. No.90
QBID:1010065

Match List I with List 11 :

A)
B
C
D)

i e

(
(
(
(

List I
Thinker
Gardner
Thurston
Guilford

Spearmen

()
(I1)
(I1I)
(Iv)

List 1T

Theory

Multifactor theory
Streuture of intellect
Multiple Intelligence

Two factor theory

Choosze the correct answer from the options given helow :

(1) (A)-(D), (B)-(LL), (C)-(LLL), (D)-(IV)
(2) (A)-(I1I), (B)-(D), (C)~(IL), (D)-(IV)
(3) (A)-(ILL), (B)-(IL), (C)-(D), (D)-(IV)
(4) (A)-(IV), (B)-(1II), (C)-(II), (D)-(T)
(1) 1
(2) 2
(3) 3
(4) 4
-1 w2 F -1 e it
TH1-1 FHI-11
(A) TmEw () wFFeT g
(B) 4w (I) dig Fil T=a
(C) fremweE (IIT) I §g
(D) T (IV) =1 %+ Tage
49 fou o faweT | 9 5 3 #1999 it
(1) (A)-(I). (B)-(IT). (C)-(ILII). (D)-(IV)
(2) (A)-(1IT). (B)-(1). (C)-(IL). (D)-(IV)
(3) (A)-(IIT). (B)y-(II). (C)-(D). (D)-(IV)
(4) (A)-(IV). (B)-(IIL). (C)-(II). (D)-(I)
(1) 1




3) 3
(4) 4

1[Option ID=18257]
2[Option ID=18258]
3[Option ID=18259]
4[Option ID=18260]

Sl. No.91
QBID:1010066

Educational management is a process of :

(A) Utilisation of human resources
(B) Managing activities of educational institutions
(C) Evolution of teaching process

(D Planning, organising and controlling of physical resources

Choose the correct answer from the options given below :

(1) (A) and (B) only

(2)  (C) and (D) only

(3)  (A), (B) and (C) only

(4)  (A), (B), (C), and (D) only

(1) 1
(2) 2
(3) 3
(4) 4

Hfere weaa v ufsean 2 -

(A)  HEE HEEE & 3T

(B) e geeri i nfafafit & waw

(C)  Tomamm wfsean % seresa i

(D) witfoes gEmeai it dra, sEreE s B 6

e feu mu fawmedi & € o I =1 T it .
() =« (A) 3R (B)

(2) = (C) 3R (D)

(3) e (A), (B) 3 (O)

(4) & (A), (B), () 3 (D)

1) 1




(2) 2
3) 3
(4) 4
1[Option ID=18261]
2[Option ID=18262]

3[Option ID=18263]
4[Option ID=18264]

Sl. No.92
QBID:1010067

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) ; Education is schooling.

Reasons (R) : Education is a discipline,

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) 1s not correct but (R) is correct

(1)
(2)
(3)
(4)

A W N =

fr9 @ YA fou 7o € ;o AfTEEA (Assertion (A) % 9 # fofiga 2 df g0 39% FW0 (Reasons
(R)) % &7 H :
sfmya (A): e feermerfte 21

FA (R) : forem v g 21
I wYA & e |, fi= g e et § @ gew swgw I w5 39w fifig

(1) (A3 (R) A = § 31 (R), (A) i ot =wen 2
2 (A 3R (R) T g &, o R), (A) F 98 =mEn 5
(3) (AT R, @fF (R) 3w 2

(1) (A) 35 2, @fs (R) &g 2
1) 1




(2) 2
(3) 3
(4) 4
1[Option ID=18265]
2[Option ID=18266]

3[Option ID=18267]
4[Option ID=18268]

Sl. No.93
QBID:1010068

Given below are two statements : One is labelled as Assertion (A) and the other 1s labelled as
Reason (R).

Assertion (A) : Learning outcomes are assessed at the end of the course.

Reaszons (R) : Assessment assures. to what extent the outcomes have been achieved.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) 1= the correct explanation of (4)

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 18 correct but (R) 1= not correct

(4) (A) 18 not correct but (R) 1s correct

(1)
(2)
(3)
(4)

P W N =

H1= =1 F9F ToU 0 E ;U A19EUA (Assertion (A)) =9 ¥ foiiga ® Al wE 0% A0 (Reasons (R))
FECY :

ATTFTE (A) UIETHE % 3 ° A 5 ewel # Ae e S 2
=+ (R) HATHE 8 A 1 AEEA 21 7 6 A F Fehw 9 75 9% 0 5 A
IYE FUE F A °, A= G T e § A T 39g S F 994 i

1) (A) 31k (R) 3F1 78 2 57 (R). (A) F T8 =men 2
@) (A) #R (R) 261 T8 E, S R), (A) F T = a6 2
(3) (A) T 2, 9T (R) 709 2
(4) (A 7eE 2, i (R) a3 B

-~~~
W
N
A W N =




1[Option ID=18269]
2[Option ID=18270]
3[Option ID=18271]
4[Option ID=18272]

Sl. No.94
QBID:1010069

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) :  Verbal tests of intelligence involves reading and writing.

Reasons (R) : Subjects make use of symbols to understand.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

(1)
(2)
(3)
(4)

A W N =

= 71 F2F TTu T E : F wiaFed (Assertion (A)) T =9 ¥ fofEd & @1 g0 3% FEW (Reasons (R))
FETH :
ATFIA (A) qlg = Tfes® THE0 § T34 30 i@ I 2|

0 (R) : Fdl OHTH F [0 Fhal F1 TG = B
S YA F AR 4, A 50 T e 3 W geE I 39 6 = i

() (A) ¥ (R) aF1 5@l & 311 (R), (A) F &1 =70 2
(2) (A 1 (R) ZF T E, ## (R), (A) B wE e 16 R
(3) (A= 2, =t (R) @ 16 2

4 (AT T R, A9 (R) TR 2

(1) 1




(2) 2
(3) 3
(4) 4
1[Option ID=18273]
2[Option ID=18274]

3[Option ID=18275]
4[Option ID=18276]

Sl. No.95
QBID:1010070

Educational guidance helps to :

(1) choose an occupation
(2) monitor the academic progress
(3) solve emotional problems

(4) develop spiritually

(1) 1
(2) 2
(3) 3
(4) 4

s

SifeaF gri-294 959 &

(1) Tl === =i 97 1

(2)  Sifer® wla % fEgem + e

(3)  HATICHH HHEAIAT F FA 7
(4)  smerfenw T % oo

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18277]
2[Option ID=18278]

3[Option ID=18279]
4[Option ID=18280]

Sl. No.96
QBID:1010071




Given below are two statements :

Statement I :  NCF 2005 draws and elaborates upon the insights offered in the Report.
‘Learning Without Burden'.

Statement IT :  Child Centered pedagogy means giving primacy to children’s
experiences. their volces and their active participation.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false
(3) Statement I is true but Statement IT 1s false
(4) Statement I 1s falze but Statement IT 1= true
(1)
(2)
(3)
(4)

a1 & Fua fgu o

A W N =

w1 UfE aEasE w9 2005 ool wege o srmsfe Ten e die woam arsida
w8 3 Iuh =men w2

weA 11: o *fza feamme &1 smve 5= % 3wdl, 396 911 3 396t afea gewnfia &
@l &A1 Bl

I HYUA & 3 °, A= 2 o et 8 4 wd 3w === i

(D Fy [ (A a2 &
(2)  ®ua 13 I 2T 3o 8
(3) %y4 [ 83 2, oifehd ®Ye 11 376 2

(1) &ud | 309 2, ofed wee [ aew 2

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18281]
2[Option ID=18282]

3[Option ID=18283]
4[Option ID=18284]

Sl. No.97




QBID:1010072

Given below are two statements :

Statement [ : ‘Midden curriculum’ refers to the unwritten unofficial values and

perspectives that students learn in schools.

Statement 11 ¢ Unspoken Academic, social and cultural messages are nurtured among

the students while studying in schools.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I1 are true
(2) Both Statement I and Statement I1 are false
(3) Statement | is true but Statement 11 is false

(4) Statement 1 is false but Statement I is true

(1) 1
(2) 2
(3) 3
(4) 4

9 g e fgg e 2

® [ “veud weu=al sifefgs, semerfer g it gfewon @ dafue @ e faeeff foamem |
i 8

wyd [1:  fernfiler & arefem, difars, armfaes i arepfie g feemem 9§ wea % o oifte 2 2)
I ®YF & e |, 9= g mu femedi § & g9 3w I W =599 Sife
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Sl. No.98
QBID:1010073

Match List T with List IT :

ListI
Theory of learning
(A) Tral and Error theory of learning
(B) (Gestalt theory of learning
(C) Constructivism theory of learning

(D) Cognitive theory of learning

List IT
Principles
()  Whole 1s better than part in learning
(II) Learning is construction of knowledge
(IIT) Practice makes learning possible

(IV) Learning is transformation of facts

Choose the correct answer from the options given below :

(1) (A)-(IV). (B)-(II). (C)-(I). (D)-(IIL)
(2) (A)-(IIT), (B)-(I). (C)«(II). (D)-(IV)
(3) (A)-(III). (B)-(IV). (C)-(I). (D)-(IL)
(4) (A)-(IID). (B)-(I). (C)-(IV). (D)-(ID
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(1) (A)-(IV). (B)-(II). (C)-(I). (D)-(IIT)
(2) (A)-(III). (B)-(I). (C)-(IT). (D)-(IV)
(3) (A)-(IIT). (B)-(IV). (C)-(I). (D)-(II)
(4) (A)-(ITII). (B)-(I). (C)-(IV). (D)-(IL)
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Psychoanalytic theory of personality was proposed by —

(1) Cattell (2) Jung
(3) Erickson (4) Freud
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SI. No.100
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Sustainable Development Goal (SDG)-4 includes :

(1) Special Education with quality
(2) Inclusive education with quality
(3) Integrated education with quality
(4) Education for gifted with quality
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